

IT IS SOMETIMES POSSIBLE TO DO THESE CALCULATIONS WITH A LITTLE MORE RIGOR AND OBTAIN AN ASYMPTOTIC SOLUTION DIRECTLY. WE CALL THIS THE ITERATION METHOD.

USING THE SAME EXAMPLE:

$$T(n) = \begin{cases} 1 & 1 \leq n < 3 \\ 2T(\lfloor n/3 \rfloor) + n & n \geq 3 \end{cases}$$

WE NO LONGER ASSUME THAT n IS AN EXACT POWER OF 3. WE SUBSTITUTE THIS EXPRESSION INTO ITSELF:

$$\begin{aligned} T(n) &= n + 2T(\lfloor n/3 \rfloor) \\ &= n + 2\left(\lfloor n/3 \rfloor + 2T(\lfloor \lfloor n/3 \rfloor / 3 \rfloor)\right) \\ &= n + 2\lfloor n/3 \rfloor + 2^2 T(\lfloor n/3^2 \rfloor) \\ &= n + 2\lfloor n/3 \rfloor + 2^2\left(\lfloor n/3^2 \rfloor + 2T(\lfloor \lfloor n/3^2 \rfloor / 3 \rfloor)\right) \\ &= n + 2\lfloor n/3 \rfloor + 2^2\lfloor n/3^2 \rfloor + 2^3 T(\lfloor n/3^3 \rfloor) \\ &\quad \vdots \\ &= \sum_{l=0}^{k-1} 2^l \lfloor n/3^l \rfloor + 2^k T(\lfloor n/3^k \rfloor) \end{aligned}$$

WE CHOOSE k SO THAT :

$$1 \leq \lfloor n/3^k \rfloor < 3$$

$$\therefore 1 \leq n/3^k < 3$$

$$\therefore 3^k \leq n < 3^{k+1}$$

$$\therefore k \leq \log_3 n < k+1$$

$$\therefore k = \lfloor \log_3(n) \rfloor$$

WITH THIS VALUE OF k WE HAVE

$$\begin{aligned} T(n) &= \sum_{i=0}^{k-1} 2^i \lfloor n/3^i \rfloor + 2^k \\ &\leq n \left(\sum_{i=0}^{k-1} \left(\frac{2}{3}\right)^i \right) + 2^{\log_3 n} \\ &= n \left(\frac{1 - \left(\frac{2}{3}\right)^k}{1 - \left(\frac{2}{3}\right)} \right) + n^{\log_3 2} \\ &= 3n \left(1 - \left(\frac{2}{3}\right)^k \right) + n^{\log_3 2} \\ &\leq 3n + n^{\log_3 n} = O(n) \end{aligned}$$

$\therefore T(n) = O(n)$ HAS BEEN PROVED. ALSO

$$\begin{aligned} T(n) &= \sum_{i=0}^{k-1} 2^i \lfloor n/3^i \rfloor + 2^k \\ &\geq \sum_{i=0}^{k-1} 2^i \left(\frac{n}{3^i} - 1 \right) + 2^k \end{aligned}$$

$$\begin{aligned}
&= n \left(\sum_{i=0}^n \left(\frac{2}{3}\right)^i \right) - \sum_{i=0}^{k-1} 2^i + 2^k \\
&\geq n - \left(\frac{2^k - 1}{2 - 1}\right) + 2^k \\
&= n + 1 - 2^k + 2^k \\
&= n + 1 = \Omega(n).
\end{aligned}$$

$\therefore T(n) = \Omega(n)$, whence $T(n) = \Theta(n)$.

THE ITERATION METHOD CAN SOMETIMES BE USED TO FIND EXACT SOLUTIONS TO RECURRENT RELATIONS (AS OPPOSED TO ASYMPTOTIC SOLUTIONS.)

EX.

$$T(n) = \begin{cases} 3 & 0 \leq n < 2 \\ T(n-2) + n & n \geq 2 \end{cases}$$

$$\begin{aligned}
T(n) &= n + T(n-2) \\
&= n + (n-2) + T(n-4) \\
&= n + (n-2) + (n-4) + T(n-6) \\
&\vdots \\
&= \sum_{i=0}^{k-1} (n-2i) + T(n-2k)
\end{aligned}$$

Choose k so that

$$0 \leq n - 2k < 2$$

$$\therefore 2k \leq n < 2k + 2$$

$$\therefore k \leq n/2 < k + 1$$

$$\therefore k = \lfloor n/2 \rfloor$$

Then $T(n - 2k) = 3$, and

$$T(n) = n \left(\sum_{i=0}^{k-1} 1 \right) - 2 \left(\sum_{i=0}^{k-1} i \right) + 3$$

$$= kn - 2 \left(\frac{k(k-1)}{2} \right) + 3$$

$$= kn - k(k-1) + 3$$

whence

$$T(n) = \lfloor \frac{n}{2} \rfloor \cdot n - \lfloor \frac{n}{2} \rfloor \left(\lfloor \frac{n}{2} \rfloor - 1 \right) + 3$$

EXERCISE

(1) $\lfloor f(n) \rfloor = \Theta(f(n))$

(2) $\Theta(f(n)) \cdot \Theta(g(n)) = \Theta(f(n) \cdot g(n))$

It follows that $T(n) = \Theta(n^2)$. One can also show by some algebra that

$$T(n) = 3 + \frac{n(n+2)}{4} + \frac{3}{8} \left((-1)^n - 1 \right)$$

4.3 THE MASTER THEOREM

This is a method for finding (asymptotic) solutions to recurrences of the form

$$(*) \quad T(n) = aT\left(\frac{n}{b}\right) + f(n)$$

where $a \geq 1$, $b > 1$ and $f(n)$ is asymptotically positive. Here $T\left(\frac{n}{b}\right)$ denotes either $T\left(\lfloor \frac{n}{b} \rfloor\right)$ or $T\left(\lceil \frac{n}{b} \rceil\right)$, and it is understood that $T(n) = \Theta(1)$ for some finite set of initial terms.

Such a recurrence describes the running time of a "divide and conquer" algorithm which divides a problem of size n into a subproblems, each of size n/b . Here $f(n)$ represents the cost of doing the dividing and re-combining.

MASTER THEOREM

Let $a \geq 1$, $b > 1$, $f(n)$ asymptotically positive, and let $T(n)$ be defined by (*). Then

(1) if $f(n) = O(n^{\log_b a - \epsilon})$ for some $\epsilon > 0$

then

$$T(n) = \Theta(n^{\log_b a})$$

(2) if $f(n) = \Theta(n^{\log_b a})$, THEN

$$T(n) = \Theta(n^{\log_b a} \cdot \lg(n))$$

(3) if $f(n) = \Omega(n^{\log_b a + \epsilon})$ FOR SOME $\epsilon > 0$,
 AND IF $a f(\frac{n}{b}) \leq c f(n)$ FOR SOME $c < 1$
 AND SUFFICIENTLY LARGE n , THEN

$$T(n) = \Theta(f(n))$$

REMARKS

IN EACH CASE WE COMPARE $f(n)$ TO THE FUNCTION $n^{\log_b a}$, AND THE SOLUTION IS DETERMINED BY WHICH IS LARGER.

IN CASE (1) $n^{\log_b a}$ IS POLYNOMIALLY LARGER AND THE SOLUTION IS $\Theta(n^{\log_b a})$. IN CASE (3) $f(n)$ IS LARGER (AND AN ADDITIONAL REGULARITY CONDITION IS MET) AND THE SOLUTION IS $\Theta(f(n))$. IN CASE (2) THE TWO FUNCTIONS ARE ASYMPTOTICALLY EQUIVALENT AND THE SOLUTION IS $\Theta(f(n) \cdot \lg n)$.

TO SAY THAT $f(n)$ IS POLYNOMIALLY SMALLER THAN $n^{\log_b a}$ (AS IN (1)) MEANS THAT THE TWO FUNCTIONS DIFFER BY A FACTOR n^ϵ FOR SOME $\epsilon > 0$.

NOTE THAT THE THREE CASES DO NOT COVER ALL POSSIBILITIES, THERE IS A GAP BETWEEN CASES (1) AND (2) WHEN $f(n)$ IS SMALLER THAN $n^{\log_b a}$ BUT NOT POLYNOMIALLY SMALLER.

EX. $T(n) = 2T\left(\frac{n}{2}\right) + \frac{n}{\lg n}$

$$\log_2 2 = 1, \quad \frac{n}{\lg n} \neq O(n^{1-\epsilon}) \text{ FOR ANY } \epsilon > 0.$$

SIMILAR COMMENTS HOLD FOR CASES (2) AND (3). IN ADDITION, THE REGULARITY CONDITION IN (3) MAY FAIL TO HOLD.

EXAMPLES

EX. 1 $T(n) = 8T\left(\frac{n}{2}\right) + n^3$

$$a = 8, b = 2, \log_b a = 3, f(n) = n^3 = \Theta(n^{\log_b a})$$

\therefore CASE (2).

$$\therefore T(n) = \Theta(n^3 \lg(n)).$$